Year 4 Maths	Wednesday 23-9-20
LO: I can partition numbers in different ways
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Jack says:

My number has five
thousands, three
hundreds and 64 ones.

My number has fifty
three hundreds, 6 tens
and 4 ones.

Amir says:

Who has the largest number?
Explain.
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Some place value counters are hidden.

The total is six thousand, four hundred
and thirty two.

Which place value counters could be
hidden?

Think of at least three solutions.
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Move the Base 10 around and make exchanges to represent the
number in different ways.

2000 + 400 + + 4
1000 + + + 14

1000 + 1300 + +
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Represent the number in two different ways in a part-whole model.

3353388 5o
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Eva describes a number. She says,
“My number has 4 thousands and 301 ones”

Whatis Eva's number?

Can you describe Eva's number in a different way?
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Which is the odd one out?
3500 3500 ones

2 thousands 35 tens
and 15 hundreds

Explain how you know.




